Welcome Back!






‘ ]nvestigation I

Each draw a right triangle with the assigned angle measure (£ A)

Make it big enough to easily measure the side lengths

Measure the legs as acculy as possible

leg opposite £ A

Calc the ratio P— @ round to 2 decimal places

Compare the ratios in your group. Form a conjecture.
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‘ Defn: Tangcnt KRatio I

The tangent of ZA is the ratio

of the length of the opposite leg

to the length of the adjacent leg.
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‘ Defn: Tangcnt KRatio I

The tangent of ZA is the ratio

of the length of the opposite leg
to the length of the adjacent leg.

Opp

tan A = GdJ
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‘ Do you rea”g getit? I

What can you say about the tan of complimentary £'s?
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‘ Do you rea”g getit? I

What can you say about the tan of complimentary £'s?

...they are reciprocals.

What is (w/o using calc or table) tan 90°?

...no such thing ... there is no opp leg.
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‘ Do you rea”g getit? I

What can you say about the tan of complimentary £'s?

...they are reciprocals.

What is (w/o using calc or table) tan 90°?
...no such thing ... there is no opp leg.

Do pg 472, #1-3
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‘ Examp]e I

To measure the height of a tree,

Alma walked 125 ft from the tree

and measured a 32°Z from ground to the tree top.
Estimate the height of the tree.
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‘ Examp]e I

To measure the height of a tree,

Alma walked 125 ft from the tree

and measured a 32°Z from ground to the tree top.
Estimate the height of the tree.

...draw yourself a picture...
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‘ Examp]e I

To measure the height of a tree,
Alma walked 125 ft from the tree
and measured a 32°Z from ground to the tree top.
Estimate the height of the tree.
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‘ Examp]e I

To measure the height of a tree,
Alma walked 125 ft from the tree
and measured a 32°Z from ground to the tree top.
Estimate the height of the tree.
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‘ What if... I

What if you knew the tangent ratio ...
...what angle produced it?

...Iin other words, the angle whose tan is x?
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‘ What if... I

What if you knew the tangent ratio ...
...what angle produced it?

...Iin other words, the angle whose tan is x?
...for example, what is the angle whose tan = V3 ?

opp

tan=a—dj
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‘ What if... I

What if you knew the tangent ratio ...
...what angle produced it?

...Iin other words, the angle whose tan is x?
...for example, what is the angle whose tan = V3 ?

opp 3
adj 1

tan =
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‘ What if... I

What if you knew the tangent ratio ...
...what angle produced it?

...Iin other words, the angle whose tan is x?
...for example, what is the angle whose tan = V3 ?

opp _ \3

adj 1 T \/5

tan =
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‘ What if... I

What if you knew the tangent ratio ...
...what angle produced it?

...Iin other words, the angle whose tan is x?
...for example, what is the angle whose tan = V3 ?

opp _ \3 e 3 Hey! A 30-60-90 Al

tan = adi 1

u| X°
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‘ What if... I

What if you knew the tangent ratio ...
...what angle produced it?

...Iin other words, the angle whose tan is x?
...for example, what is the angle whose tan = V3 ?

O

opp 3 x =60
v

tan =
u| X°
1
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‘ Defn: |nverse tangent arc '("an I

tan'(x)

L.the measure of the angle whose tan is x.
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‘ Dcycn: ]nverse tangent I

tan”'(x)
|:Lhe measure of the angle whose tan is x.

egrees!
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‘ Deycn: ]nverse tangent I

tan'(x)

—the measure of the angle whose tan is X.

~degrees!

L.be careful ! !'!
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‘ Deycn: ]nverse tangent I

tan'(x)

—the measure of the angle whose tan is X.

~degrees!

111
—be careful 'l | m tan'1(\6) 4 tan(\3)"
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‘ Dcycn: ]nverse tangent I

tan”'(x)

—the measure of the angle whose tan is X.

~degrees!

11
—be careful 'l | m tan"(\3) = tan(\3)"

!
!

60°
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‘ Dcycn: ]nverse tangent I

tan”'(x)

—the measure of the angle whose tan is X.

~degrees!

111
—be careful 'l | m tan'1(\6) 4 tan(\3)"

60° 1

=33.069
tan(v3)
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‘ Deycn: lnverse tangent I

tan”'(x) = tan'1(%%’j2)
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‘ Dcycn: ]nverse tangent I

tan”(x) =tan'1(%mj2) = M”ﬁL
ﬁ. deg

-1(OPRy _ is OPP
tan( adj ) = the measure of the angle whose tan is ad]

J L% >
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Examp]e

Find mZR to nearest 10" of a degree.
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‘ Practice I

Pg 473, #11-13
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What does this sign mean?
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What does this sign mean?

how steep the road is.
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What does this sign mean?

how steep the road is.

What is the math term for
steepness of aline?
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how steep the road is.
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40



What does this sign mean?

how steep the road is.

What is the math term for
steepness of aline?

...SIOPC.

How does sloPe relate to tan ?

sk off
= Tn i
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What does this sign mean?
how steep the road is.

What is the math term for
steepness of aline?

...SIOPC.

How does sloPe relate to tan ?
..itis the same!
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What does this sign mean?
how steep the road is.

What is the math term for
steepness of aline?

& 4 ...slope.

|
. How does sloPe relate to tan ?
..itis the same!

-._ What is the measure of the £
’ the road makes w/the ground?
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What does this sign mean?
how steep the road is.

What is the math term for
steepness of aline?

& 4 ...slope.

|
. How does sloPe relate to tan ?
..itis the same!

-._ What is the measure of the £

’ the road makes w/the ground?

(8% = o2
° 7100
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What does this sign mean?
how steep the road is.

What is the math term for
steepness of aline?

...SIOPC.

How does sloPe relate to tan ?
..itis the same!

-._ What is the measure of the £
the road makes w/the ground”

: i

18% ==——— = slope =tanZ
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What does this sign mean?
how steep the road is.

What is the math term for
steepness of aline?

...SIOPC.

How does sloPe relate to tan ?
..itis the same!

-._ What is the measure of the £
’ the road makes w/the ground”

i
18% = ——= slope =tand

sowhatisx?

tanx = 8
ant =900
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What does this sign mean?
how steep the road is.

What is the math term for
steepness of aline?

...SIOPC.

How does sloPe relate to tan ?
..itis the same!

-._ What is the measure of the £
the road makes w/the ground”
i
18% ==——— = slope =tanZ
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What does this sign mean?
how steep the road is.

What is the math term for
steepness of aline?

...SIOPC.

How does sloPe relate to tan ?
..itis the same!

-._ What is the measure of the £
’ the road makes w/the ground”

i
18% = ——= slope =tand
tanx=ioso sowhatisx?
i8
. - =
m& = tan (ioo>~lo
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‘ HW Iroblems I

Pg 473, #1-22, 26-29, 31-43 odd, 53, 54

Pg 468, #1-11
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